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o calculus. orxoy=01Uoy, tm = (T, T, > T,), h’:oce (c\{x,yhVU(@—> o0y, tha=1, R — T
B-calculus. Constraints. ® Sum of column xiso,—1. eAt7T.=1,w=1andA =0.
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Gassner calculus I'. Preserves C| := [col sum = 1] (&0OC) and v Cy = [VYa,b, (T, —1) | (Awp — Sap0p)]
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The map (tangle 7 +— matrix A) is anti-multiplicative. The MVA mod units: L = (w,A) = wdet’(A-DN/(1-T")
Burau. On b € uB,, Bu: o' — U Unitarity. With U = Bu(b), UQ,UT = Q,,.
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To do. e Full verification program. e R1? e Precise relation with Burau/Gassner. e Concordance. e Unitarity. e Planarity. e A
depth-mirror property for u-objects. @ Mutations? e Link relations? e Behaviour of A/MVA under mirror/strand reversal?
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S-better calculus. Constraints. e Sum of column xis (cx — Dw. e w* ' |AFA. e AtT,=1,w=1andA =0.
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The MVA (mod units): n-component L — (o, w,A) wz‘” det’(A — wdiag((o; — 1))/(1 = T")
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That is, with Ag.z denoting minors, if wk‘l,u,;;,—c = Ay:x and wk,uu,;;xj—c = Auixz, then (w + a)k! Mz + Huaxz) = AL
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A-calculus. A(T; H) = R(T) ® (A(T) ® A(H))—, with R(T) Laurent polynomials in {7, },e7. A=Ay = (A ® N)Ay

m : u,v—->w,T,T, > T, hm? . x—z,y— 02 tha" : A (1 + iy, Q iy)A)/(u — oxu) o =1+ (T - Dux

Relations. e p; pi /tmis) [hm" = te he.. o pi\pypy ) [hm [tha™ = ppiouffimy” [hmy .



